Chapter 6

Transformation Theory
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Q=Q(q,p), P=P(qp)
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6.2 23 or A e (Generating Function)

/dpdq = //deQ (6.10)

| Stoke’s theorem
]{pdq = }I{PdQ (6.11)
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$olpdg — PdQ] = 0 = §.dF(q,Q) (6.12)
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Potential <=2 &A| & 2] 1 (6.13)
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p=0p(¢,Q), P=P(qQ) (6.14)
OF, oF,
d —
fg Fi(q,Q) j{;(@q dq + 6QdQ> (6.15)
L _oRn o, 0R
P = 90 P = 20 (6.16)
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Plg,p) 9A FS ®A - HAR=E

4 (6160 Q = Q(g,p), P = P(q,p) ZFL= viEejd p = SHIdg
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[pdq — PdQ] = 001 A]

[pdq — Pf'(q)dg] =0

p=Pf'(q), p=Pe!

$ QAP + § PdQ =0
§ PdQ = — § QP
$o(pdg + QdP) = §.dF> =0
Fy= Fy + PQ
Fy(q, P) = Fi(q,Q) + PQ
P = — 2049 (] egendre A 3F)
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p=2 Q=20 (6.30)
Fy=Pf(q) (6.31)
p="Pf(9), @=f(q) (6.32)
f(q) = q¢ — identity transformation (6.33)
fdp-g)=0— §d(F — pg) = 0 (634
$(pdg — PdQ) — ¢ pdq — § gdp =0 (6.35)
- $[-PdQ — qdp] = § dF; = 0 (6.36)
P=—56, 1=-% (6.38)
$d(Fy + PQ — pq) = ¢ dFy = $[QdP — qdp] (6.39)
Fi(p, P) = Fx(q, P) = pa, p= %2 (6.40)
f— g (6.41)
(¢,p) — (Q, P)d] WZ= FxA o &3t ¥z}
K(Q,P)=H(q(Q, P),p(Q, P)) (6.42)
. 0Q . 0Q .,
Q = a—qura—pp (6.43)
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0K (0QOP 0QOP
B ap(aqap_zmém> (6.46)
. OP_ 0P, 0K
Pza—qq-l—&—pp:'--:—@ (647)

AN FEA (Q, P)2] Hamiltionian K(Q, P)E H(g,p)olth ¢ = ¢(Q,P), p =
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F(Q)Qﬂf)% ‘?_é_H/H
=—— P=—-—— (6.48)

0F1(Q,q, 0F1(Q,q,
p="20lget - p_ OhZal) (6.49)
— aFg(a];,q,t)7 Q — aFQéf;,q,t) (650)
(P g, t) = F1(Q,q,t) + PQ (6.51)

QE Q(P,¢)d FF2 Bt &, P= -0 S04 A, b ATHE

OF|  OF, O0F,0P
ol ot aP o (6:52)
OF|  OF  0F0Q 0Q
ol " o aQa +Q8t 5 (6.53)
A (6.52) - (6.53)
8F2 - 8F1 . 3F3 - 8F4
ot ot ot Ot (6:54)
M3 A 9] Hamiltonian K(Q, P, t)
: Q Q. 0Q
Q = 500 TP T 5 (6.55)
. OH . o0H
Q—a—p, p——a—q (6-56)
H(Q,P) = H(q(Q, P),p(Q, P)) (6.57)
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chain rule A&

_ (‘3H+8Q: 0 o OF,

az; ot ap(a Wg (6.58)
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_ a@ — a@([ﬂ = (6.59)
OF, _0F, _OF; _0F, (6.60)
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time-evolution<< area-preserving

o 7] 2
Q= 1n(812p), P =qcotp
7 AEABYS oL BRS Fi(0.Q). File. P)E T3
PdQ = qcotp|cot pdp — %]
R

pdg — PdQ = pdq — qcot? pdp + cot pdg
= pdq + qdp — q(cot? p + 1)dp + cot pdq

= d[pq + qcot p] = dF,
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d tp) = cot pdq — d 6.73
(¢ cot p) = cot pdg el (6.73)
F(Q,q) = pq+qcotp (6.74)
p=sin"(¢ge?) 2 thY
F1(Q,q) = gsin ™' ge? + [e729 — ¢°]'/? (6.75)
1
qe®
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P
p = cot ! i tan ! % (6.77)
. t -1 q
Q =m0 P —%ln(q2 + P (6.78)
q
1
Fy(q, P) = qtan™"(q/P) + P[1 = Sin(g’ + P?)) (6.79)
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p 94 Aq cot Q) (6.81)
O 5 1
Pr= %30 =2 6.82
oQ 1 sin? Q ( )
T+
1/2
q = <§> sin Q (6.83)
p = 2(>\P)1/2 COSQ (684)
w2k
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P = AN cot? Q = AN 2 (6.85)
sin“ ()
K(P.Q) = P(% cos” Q + L s> sin? Q) (6.86)
) = 5w .
A=smw=E AHE
K(P.Q)=wP=FE (6.87)
P = 0— P = const. (6.88)
P=E/u (6.90)
1 (2E\"?
qg=— <—> sin(wt +6), p= (2mE)1/2 cos(wt + ) (6.91)
w\m
o} 7| 4.
Fi(Q.q,t) = q(Q* + 1*)& B2 4o} 2o = M2 Azs)e)
8F1 P
=50 = ° = 92
oQ 10 2q (6.92)
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B(P.qt) = a(qq +1) + P(=3) (6.93)
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Q(t) = q— D(t)

Fy(P,q,t) = P(q— D(t))
p= 88_};2 =P
H(q,p) = £ + V(q)2} 7}
@pn = T ivie-pw)+ 2
=§%+V@—IWD+PD
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T =1, F,=qP :identity

T1T2T3 = (TlTQ)T3 = T1 (TQTg)(&SSOCi&ﬁVG)

o] ZANE T HIL identity HE

Fy(q, P) = Pq+eW(q, P,e)

(6.104)

(6.105)
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(6.107)
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p = poeMaBe) (6.108)
dq
oW (g, P,¢)
_ 9\ E) 6.109
Q= qgte—0ps (6.109)
co] 13} 2AFR o] WAL
oG
0 = g+:26@P) (6.110)
dp
p o= p_ 204D (6.111)
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2 & 5 Atk o7)A
G(g,p) = lim W(g, p, ) (6.112)
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Q) 0G(q,p) 0G(Q, P)

e — e 113
Oe o0 5p (6.113)
or _ 9G(q,p) 9G(Q, P)
de = 0)—7— 6.114
Oe Jq ( ) 00 ( )
o] A& Hamiltonian 2 H}A A3} ZHc}
e=0t2 oW G = H(gpHe T3 487 (6.115)

0:tx M — M defined by y* = hi(t, 2, -, z")
X: the infinitesimal generator of 6

X =) K0 ’xn)aii (6.116)

Ex. 0 : R x R? defined by

yl cost sint xt
= (6.117)
y2 —sint cost x?

X =2t (6.118)

.. integral curve of X: circle



